T I T4 L5 Assessment 3

n Check the box that has the matching equation.

5x8 8x5 4x8

9% 6 Ox7

E Read each word problem and check the equations
that match. Then, underline the correct products.

There were 4 trees with 9 macaws located in each tree.
How many macaws were there in total?

Ox5=7 Ax8="7 Ox4="7

36 MaAacaws 45 macaws 32 MAcaws

e There are 6 anaconda nests along the Amazon river. In each |
nest, are 7 eggs. How many anaconda eggs are there in all?

/xXo5="7 6x/="7 6x5=7

-yY\ps 30 eggs 35 eggs 42 eQgs
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